D.\Smbuidor Autoriz; do

o
o
0
(]
(@)
o
(0.0]
o
on
LN
(@]
(«]
Pl
(@)
£
c
(]
hV4
| -
(@)
O
(L]
[
(]
eT]
e
y—
(¢F]
o

Venta de Refacciones

Electrodomesticas




Refrigerador Kenmore 25328092800

descripcién

1 5304507199 | Freezer Door Gasket

2 297090000 | Freezer door lock

2A 297090900 | Freezer lock spring clip

5 297147700 | Freezer door key

9 297185900 | Freezer door inner liner

11 297203902 | Freezer door outer panel (stainless)
12 297086400 | Refrigerator nameplate

18 297218000 | Freezer door handle (whit)
21A 216850900 | Refrigerator screw

22 216970800 | Freezer Door Hinge Bearing

26 216524200 |Freezer door secondary

27 5303212828 | Freezer inner door panel rivet

32 5309950074 | Freezer breather valve
48C 297186400 | Freezer door bin

49 297187200 |Refrigerator door bin

59 216974500 | Freezer door closer bearing

64 216403700 |Freezer breather valve

72 297186700 | Shelf

73 216513900 | Freezer door tilt-out shelf rail end cap, left
74 216514000 | Freezer door tilt-out shelf rail end cap, right
79 218755402 |Freezer door handle set




Refrigerador Kenmore 25328092800

descripcién
80 218755504 | Refrigerator door handle screw
93 5304460605 | Freezer screw
151 297242003 | Freezer electronic control assembly
#NI 297007500 | Clip
#NI 240537301 | Freezer anchor nut
#NI 5304406520 | Freezer gasket and liner fastener kit
49 297187200 | Refrigerator door bin
59 216974500 | Freezer door closer bearing
64 216403700 |Freezer breather valve
72 297186700 | Shelf
73 216513900 | Freezer door tilt-out shelf rail end cap, left
74 216514000 | Freezer door tilt-out shelf rail end cap, right
79 218755402 | Freezer door handle set screw
80 218755504 | Refrigerator door handle screw
93 5304460605 | Freezer screw
151 297242003 | Freezer electronic control assembly
#NI 297007500 | Clip
#NI 240537301 | Freezer anchor nut
#NI 5304406520 | Freezer gasket and liner fastener kit




D-\Smbuidor Autoriz o
; |
ﬁurlﬂnﬂll 1 Refrigerador Kenmore 25328092800

Venta de Refacciones
h Electrodomesticas




Refrigerador Kenmore 25328092800

descripcién
1 5300083897 | Freezer condenser coil
2 5308000110 | Refrigerator strap
4 216987500 | Refrigerator filter dryer
5 297237603 | Freezer wire harness
14 216730700 |Freezer defrost heater
15 216997300 | Freezer evaporator
15A 297217900 |297217900
18 297078700 | Insulator evaporator
19 297078800 | Insulator evaporator
20 216872200 | Freezer defrost bi-metal thermostat
27 5308002681 | Refrigeration appliance compressor grommet
29 297223500 | Refrigerator compressor
30 216954218 | Freezer electronic control board
31A 297217000 | Freezer defrost drain pan
32 216954300 | Freezer compressor overload and relay clamp
35 297177200 | Freezer compressor mounting bolt
43B 297048400 | Refrigerator wire harness clip
55 216985001 |Refrigerator run capacitor
86 216036601 | Refrigeration appliance screw, #8-32 x 1/2-in
130 297244700 |Support
#NI 240555002 | Refrigerator screw, #8-32-in
#NI 297169900 | Freezer power cord
#NI 297102800 | Freezer condenser coil spacer
#NI 297014500 | Suction plug
#NI 216502500 | Suction sleeve
#NI 297018400 | Freezer temperature sensor




o
o
0
(]
(@)
o
(0.0]
o
on
LN
(@]
(«]
Pl
(@)
£
c
(]
hV4
| -
(@)
©
(L]
S
(]
eT]
e
y—
(¢F]
o

&

SurteRapie i

Venta de Refacciones
h Electrodomesticas

D.\Smbuidor Autoriz4 do




Refrigerador Kenmore 25328092800

descripcién
3 216503100 |Freezer drain screen
5 216325600 |Blade
6 297200900 | Freezer breaker kit
7 297201100 | Freezer breaker kit
9 297200100 | Freezer breaker kit
13 216934100 | Motor
14 297243800 | Freezer light switch
15 216846400 | Freezer light bulb
16 216817601 | 216817601
19 216204902 | Freezer evaporator cover gasket
25 297099251 | Freezer evaporator cover
28 297179300 | Hinge Pin
29 216313501 | Freezer drain tube
32 5308005500 | Freezer drain hose adapter
34 297184400 |Freezer light lens
37 241611301 |Refrigerator corner trim
38 297154600 | Freezer door hinge
40 297154701 | Cover
41 297236200 | Freezer tamper-proof screw, 1/4-20 x 5/8-in
42 297166802 | Freezer glass shelf
42A 297166800 | Freezer glass shelf
42C 297183801 | Freezer shelf divider
47 297192901 | Baffle
47A 297205801 | Diffuser (blue)
50 216394050 | Freezer evaporator fan blade
59 297210900 | Freezer basket
59A 216486500 | Freezer basket stop
59B 297209600 | Basket




Refrigerador Kenmore 25328092800

descripcién
60 297013500 | Freezer basket slide rail
63 216396900 | Freezer leveling leg
68 08009560 | Freezer basket glide
69 5305878546 | Freezer basket bumper
71A 297146800 | Freezer screw
72 297198900 | Freezer toe grille
79 3017666 | Freezer cabinet anchor nut
93 5304460605 | Freezer screw
93A 216629601 |Refrigeration appliance screw, #10-16 x 1/2-in
137 297166900 | Frame
137 297166902 | Freezer shelf frame
138 297203601 | Shelf trim, front
139 297218201 | Shelf trim, rear
152 216974600 | Freezer door closer bearing
156 297202401 | Divider
156 297183601 |Basket divider
163 297185301 | Freezer pizza shelf
169 216912401 | Refrigeration appliance screw, #8-32 x 1/2-in
#NI 297251900 | Owner's manual




